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Question Number : 1 Question Id : 21280729336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

In the context of minimally processed foods, which of the following are manufactured through
microbial or chemical synthesis ?

(1) Preserved foods

(2) Manufactured foods

(3) Formulated foods

(4) Synthetic foods

Options :
212807117341. 1
212807117342. 2

212807117343. 3
212807117344. 4
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Question Number : 1 Question Id : 21280729336 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

=R YEeRd Gl 9t & gy H, freafafed 8§ 3 @6 @ aesifaga @ waafis deaun & e §
ffHa 2 g 2
(1) Hferm @ uer
(2) T @ gerd
(3) IR foman gam @ e
(4) Hvafd @ gerd
Options :
212807117341. 1
212807117342.2

212807117343. 3
212807117344. 4

Question Number : 2 Question Id : 21280729337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Salmonella can be easily destroyed by
(1) Heating

(2) Cooling

(3) Refrigeration

(4) Deep freezing

Options :

2128071173451
212807117346.2
212807117347.3
212807117348. 4

Question Number : 2 Question Id : 21280729337 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

gredren sTErE § TR o S ek @ I
(1) H Tk

(2) B Wk

(3) et g

(4) e feHeRTo g
Options :

212807117345. 1
212807117346.2
212807117347. 3

212807117348. 4 < coIlegedunias
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Question Number : 3 Question Id : 21280729338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Deficiency of which of the following is referred to as “hidden hunger’ ?
(1) Carbohydrate

(2) Fats

(3) Micronutrients

(4) Protein

Options :

212807117349. 1
212807117350.2
212807117351. 3
212807117352. 4

Question Number : 3 Question Id : 21280729338 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frfafeaa § 9 frast w0t 1 ' gea/fodt g€y’ *er S 82

(2) a9

(3) H&H U
(4) WA
Options :

212807117349. 1
212807117350. 2
212807117351. 3
212807117352. 4

Question Number : 4 Question Id : 21280729339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

‘Langar” distributed in Gurudwaras is an example of which type of catering service ?
(1) Chain
(2) In house
(3) Welfare
(4) Commercial
Options :
212807117353. 1
212807117354. 2

212807117355. 3
212807117356. 4
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Question Number : 4 Question Id : 21280729339 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
TeERl # ‘@R’ faaen forg YRR 1 WA JaT 1 TH IR §
(1) @
(2) TEHa
(3) REATURRT
(4) arforfas
Options :

212807117353. 1
212807117354.2
212807117355. 3
212807117356. 4

Question Number : 5 Question Id : 21280729340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The full form of CFTRI is :
(1) Care Food Technology Research Institute
(2) Central Fruit Technological Research Institute
(3) Central Food Technological Research Institute
(4) Care Fruit Technological Research Institute
Options :
212807117357. 1
212807117358. 2

212807117359. 3
212807117360. 4

Question Number : 5 Question Id : 21280729340 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
.U, 2. 31R, 316, (CFTRI) =l fosgd ®9 ¢ :
(1) T&T07 e UrRifTen] ST S
(2) =T we YRt STTEE e
(3) H=a TR URNfTER sTHum gem
(4) EIET Hed GRIATRT STEEE G

Options :

212807117357. 1
212807117358.2
212807117359. 3
212807117360. 4
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Question Number : 6 Question Id : 21280729341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What does ICDS stands for ?
(1) Integrated Child Development Services
(2) Indian Child Development Sector
(3) Integrated Child Development Scheme
(4) International Child Development Services
Options :
212807117361 1
212807117362. 2

212807117363. 3
212807117364. 4

Question Number : 6 Question Id : 21280729341 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

SR HL 2L TH, 1 A4 € -

(1) TafRa e fasrg Jand
(2) TR = fase &
(3) R are forsmre drsH
(4) SlaUgE s1er foreRr Famd

Options :

212807117361. 1
212807117362. 2
212807117363. 3
212807117364. 4

Question Number : 7 Question Id : 21280729342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Children “in conflict with law” are also referred to as
(1) Special children

(2) Criminal children

(3) Juvenile delinquents

(4) Special needs children

Options :

212807117365. 1
212807117366. 2
212807117367. 3
212807117368. 4

Question Number : 7 Question Id : 21280729342 Question Type : MCQ Option Shuffling : No Is Question Mandatory : N ulator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 H
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 1 e H ad Il bl fohe &9 § fafde foran s & -
(1) Tevrm ==

(2) A 9=

(3) Tememe—aroue

(4) a9 STEegsRd ard o=
Options :

212807117365. 1
212807117366. 2
212807117367. 3
212807117368. 4

Question Number : 8 Question Id : 21280729343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following skill is required in an early childhood professional ?
(1) An interest in children and their development

(2) Cooking skills for preparing packed lunch for children

(3) Enthusiasm for social interaction

(4) Capacity for understanding individual differences

Options :

212807117369. 1
212807117370.2
212807117371. 3
212807117372. 4

Question Number : 8 Question Id : 21280729343 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fefafad § 9 i 91 FI9e Tk IR aedreae] Y96 & fau Aayas 2
(1) == 3IR 37 fawm § w4

(2) == % fau S o fesamsg i TR w3 % fau @ whe % wee
(3) wrIferer Gk o fam s

(4) eafara fimmmsti 1 TreM & ama

Options :

212807117369. 1
212807117370. 2
212807117371. 3
212807117372. 4
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Question Number : 9 Question Id : 21280729344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

As per the NCF (2005) position paper on Early Childhood Education, the basic objectives of ECCE

are :

(A) Providing food services to children

(B) Preparation for school

(C) Providing support services for children

——

(D) Providing support services for women
(E) Holistic developement of the child

Choose the correct answer from the options given below :

(1) (A), (B), (©), (D) only
(2)  (A) (©), (D), (E) only
(3)  (A), (B), (D), (E) only
(4) (

Options :

212807117373. 1

212807117374.2

212807117375. 3
212807117376. 4

Question Number : 9 Question Id : 21280729344 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Yrfyyes srearery e © U greg=al ®9@ NCF (2005) o fafd o3 o siur, £ 6.91E. & 9o =29

g:

(A) o= Bl HISH FETT YSH FHEA |

(B) THSl % faTu AR T

(C) ==l & foau wemE Hand yeM & |
(

(

e

g

) Hfeenst % fou e Fand wer F3
E) 9= 1 999 o S

1 faw U et § @ W IR =9 Ffe
(1) aa (A), (B), (O). (D)

(2) FaE (

(3) A (A), (B), (D), (B)
(4) e (

Options :

212807117373. 1
212807117374.2
212807117375. 3

o
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212807117376. 4

Question Number : 10 Question Id : 21280729345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Name the kind of home for children where juveniles (children under 18 years of age) found guilty
in terms of violation of law, are placed in custodial care.
(1) Observation Homes
(2) Special Homes
(3) Juvenile Homes
(4) Adoption Homes
Options :
212807117377. 1
212807117378. 2

212807117379. 3
212807117380. 4

Question Number : 10 Question Id : 21280729345 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Tl o feTl 39 YRR % =R o1 ATH S0 STl (IR (18 9 | %1 3 & &), Sl HA & Seered o
H et uTe S €, 3% Ifirer H v S R 2

(1) STacld T8
(2) fmTE
(3) ToREIR 1w 8
(4) <R TE
Options :

212807117377. 1
212807117378.2
212807117379. 3
212807117380. 4

Question Number : 11 Question Id : 21280729346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the context of quality assurance in the garment industry, what is referred to as the process of
implementation and monitoring of quality systems like TOM and ISO ?
(1) Quality Control

(2) Quality Assurance

(3) Quality Management

(4) Quality Specifications

Options :
212807117381. 1
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212807117382.2
212807117383. 3
212807117384. 4

Question Number : 11 Question Id : 21280729346 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Ofer -3 H Torer st & Hel H, g un. o g ud. il S uiEEn Yuned! o Rt iR
fe=ror =61 gfsren 1 fohe &9 8§ 51 STan 8 2

(1) ToreE fE=m

(2) TIUTERI STETEA

(3) Ul YU

(4) TorEE] faferednd
Options :

212807117381. 1
212807117382.2
212807117383. 3
212807117384. 4

Question Number : 12 Question Id : 21280729347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the context of fabric defects, tentering marks and chafe occur due to which of the following
faults ?

(1) Yarn faults
(2) Weaving faults
(3) Dyeing faults
(4) Finishing faults
Options :
212807117385. 1
212807117386. 2

212807117387. 3
212807117388. 4

Question Number : 12 Question Id : 21280729347 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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e (Wiaw) S % gesf 1, i aed (foamo Td fome) sir = (ve) frefafea § 4 feas srm
M R?
(1) o™ % <Y

(2) TEF S
(3) ¥mE & <m
(4) Oft=RTor (uftgs) & S

Options :

212807117385. 1
212807117386.2
212807117387. 3
212807117388. 4

Question Number : 13 Question Id : 21280729348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In apparel production, the process of preparing any product for dispatch from one place to another
is referred to as

(1) Packaging
(2) Packing
(3) Finishing
(4) Bundling
Options :
212807117389 1
212807117390. 2

212807117391. 3
212807117392. 4

Question Number : 13 Question Id : 21280729348 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
T Scare H, foRet Seare i Ueh T | O T TR 9N o fau R S it gl FeEd
gl
(1) kst oA
(2) U &
(3) UfEcSd HE

(4) wefa (sEd =EH)

Options :

212807117389. 1
212807117390. 2
212807117391. 3
212807117392. 4

Question Number : 14 Question Id : 21280729349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : culator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 _ COI Ieged un iae
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

How many thread are used in a Single Needle or Lockstitch Machine for stitching ?
(1) One

(2) Two

(3) Three

(4) Four
Options :

212807117393. 1
212807117394.2
212807117395. 3
212807117396. 4

Question Number : 14 Question Id : 21280729349 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Toes o folu U g o1 areeied weia | fhda url &1 39 foan i 2 2
() o

2) @
(3)
(4) =R

Options :

212807117393. 1
212807117394. 2
212807117395. 3
212807117396. 4

Question Number : 15 Question Id : 21280729350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What is referred to as the number of warp and weft yarn in a square inch of woven fabric ?
(1) Weave count

(2) Yarn count

(3) GSM (Grams per Square Metre)

(4) Thread count

Options :

212807117397. 1
212807117398.2
212807117399. 3
212807117400. 4

Question Number : 15 Question Id : 21280729350 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Key Value
Comprehension MCQ

T T FIS F U 90 39 H, a1 4R 9 g4 H1 TN F T H 347 S S E 2
(1) o7 sl frdt

(2) Ha =l fir
(3) U\ ufd & Hiex (SiuHTA.)
(4) T ol HE&Al

Options :

212807117397. 1
212807117398.2
212807117399. 3
212807117400. 4

Question Number : 16 Question Id : 21280729351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In the context of design analysis, part of the design which has been super imposed on the basic
structure is known as

(1) Structural design
(2) Functional design
(3) Applied design
(4) Advanced design

Options :

212807117401. 1

212807117402. 2

212807117403. 3
212807117404. 4

Question Number : 16 Question Id : 21280729351 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ
feste fagerou & Has # fesig 1 a8 Wi Sl 9o 6= 1 SsAiiad foean T g, 39 e
g1

(1) HEATHS fesE
(2) A fese
(3) ATYFH fesimeA
(4) =4 fesiEg
Options :

212807117401. 1

212807117402. 2

212807117403. 3
212807117404. 4

Question Number : 17 Question Id : 21280729352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : ulator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 COI le ged un iae
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

As per the Consumer Protection Act, which of the following right refers to acquire knowledge and
skill to be an informed consumer, so that s/he will be able to make wise decisions while purchasing
goods and hiring services ?
(1) Right to redressal
(2) Right to be informed
(3) Right to Consumer Education
(4) Right to be heard
Options :
212807117405. 1
212807117406. 2

212807117407. 3
212807117408. 4

Question Number : 17 Question Id : 21280729352 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

SusreR Hean stfafram & srER, fefafad § 9 o6 @ sifusr v g (gf=a) 3uvis 31 & fag
FH 3R HIETe YT HT 1 Seotd AT &, Mk 98 MM @ier 3R Jansii i ffe | o & Sim gigaa
qof o/ T H a8 Heh ?

(1) THaror w1 sAftenr

(2) gfaa fed SiF @ SR

(3) ek foan 1 sAfuER

(4) YR K AfIFR

Options :

212807117405. 1
212807117406. 2
212807117407. 3
212807117408. 4

Question Number : 18 Question Id : 21280729353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Ram has joined a new job in hotel. He coordinates with front office for information on departure
of guests, gets vacated rooms cleaned and hands over cleaned rooms. He has joined as :

(1) Floor supervisor

(2) Executive housekeeper
(3) Desk control supervisor
(4) Assistant housekeeper

Options :
212807117409. 1

212807117410. 2 H
gcollegedumas
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212807117411. 3
212807117412. 4

Question Number : 18 Question Id : 21280729353 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

9 A TRA H 72 ARl SIS &l § | I8 HeTHI & aR Gl &g W TR o W1 TH-a4 il ¢, @il T
U HE WH HIE 7, 37X 32 Giar ¢ | 3699 forg &9 1 el sarg #1 €

(1) da J¥aarh

(2) HEFRN T s HUH

(3) E@rTdt fa=eh gdaers

(4) HEHF TRUSHHR

;)11)2281712 l 7409. 1

212807117410.2

212807117411. 3
212807117412. 4

Question Number : 19 Question Id : 21280729354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following standardization mark indicates that precious metals such as platinum
have been evaluated and tested for conformity to the national/international standard of fineness/
purity ?
(1) Il
(2) Agmark
(3) Ecomark
(4) Hallmark
Options :
212807117413, 1
212807117414. 2

212807117415. 3
212807117416. 4

Question Number : 19 Question Id : 21280729354 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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frafafad § 9 & @ s foe a7 <ofar § fF Simd ag 59 wifer &1 T/ s

SR/ IS T & SFEY Hedich SR udevr fomer e g2
(1) STE.TE.SE. (ISI)
(2) W
(3) TRMEh
(4) BIHRR
Options :
212807117413. 1
212807117414. 2

212807117415.3
212807117416. 4

Question Number : 20 Question Id : 21280729355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which newspaper was involved in reporting details of ‘Project Village Chhatera” in 1969 ?
(1) Navbharat Times

(2) Hindustan Times

(3) Punjab Kesari

(4) Dainik Jagran

Options :

212807117417. 1
212807117418. 2
212807117419. 3
212807117420. 4

Question Number : 20 Question Id : 21280729355 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

1969 § * afES1 am AU’ & feawo i fTqfdn § @F o1 g9=R o3 wiae o ?
(1) “IYRd 2
(2) Tos=m =

(3) USIE HE
(4) <fe SEm
Options :

212807117417. 1
212807117418.2
212807117419. 3
212807117420. 4

Question Number : 21 Question Id : 21280729356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

IKey Value

nia:
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|C0mprehensi0n |MCQ

What services were provided in the Sustainable Access in Rural India (SARI) project ?
(1) Employment services
(2) Agricultural services
(3) e-government services
(4) Community services
Options :
212807117421. 1
212807117422.2

212807117423. 3
212807117424. 4

Question Number : 21 Question Id : 21280729356 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e vRA H Tad 59 (SARI) IRESET § ®F 9 Tard yegH T 2
(1) TSR Hame

(2) Hfugard

(3) E-TETH= WA

(4) I Fard

Options :

212807117421. 1
212807117422.2
212807117423.3
212807117424. 4

Question Number : 22 Question Id : 21280729357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following Nutrition programme is NOT involved in improving food security in India ?
(1) National Anaemia Control Programme

(2) Public Distribution System

(3) Antodaya Anna Yojana

(4) National Food for Work Programme

Options :

212807117425. 1
212807117426.2
212807117427.3
212807117428. 4

Question Number : 22 Question Id : 21280729357 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunias
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Trefafad 5 | A 91 U FwEEs 9Rd § @ g S GURd § e 7@ 7 2
(1) U Ea-Aeqad s S®H

(2) e faawor gome

(3) SIHTEH o7 AT

(4) M % 950l UL IS (TF6) FF

Options :

212807117425. 1
212807117426. 2
212807117427. 3
212807117428. 4

Question Number : 23 Question Id : 21280729358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following Food Safety Management System indicate a comprehensive approach from
the farm to the store or consumer to identify potential sources of risk of contamination and steps
taken to minimise the risk ?

(1) Good Manufacturing Practices

(2) Good Hygiene Practices
(3) Good Handling Practices

(4) Hazard Analysis Critical Control Point

Options :

212807117429. 1
212807117430. 2
212807117431. 3
212807117432. 4

Question Number : 23 Question Id : 21280729358 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Trefafed 9 | F S @R gean Yayd T @d H 2R A1 SUHE q% Qg F Gall o "ifad Bl i
UM L 3R Al ] HH HH o [0 IS T HEH| i G869 HA o o0 Teh ST gieehIvl &1 Hehd
SH g2

(1) 1=t fafmio yafaar

(2) oT=S TeId gl

(3) oT=a weruH wgfaar

(4) ey faveryu faa=mmaes fHsm fog

Options :

212807117429. 1

212807117430. 2
212807117431. 3

212807117432. 4 .
collegedunias
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Question Number : 24 Question Id : 21280729359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following information is NOT required to be gathered while assessing nutritional
status and nutrient needs of a patient ?

(1) Anthropometric measurements

(2) Knowledge on speciality foods for special health purposes
(3) Biochemical and biophysical assessment

(4) Health, diet, personal and medication history

Options :

212807117433 1
212807117434.2
212807117435.3
212807117436. 4

Question Number : 24 Question Id : 21280729359 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

[ it g e frafg R due adl S 99 1 e S 999 fefafed O 9 F 9 SHer
TS 0 ! STEeahdl ol & ?

(1) "EafHfds 719

(2) Toumw wre e & fou fafere @ gl =1 5=
(3) S TErEfE $R Saifae g

(4) TR, ARR, AT 37 39K sfie™

Options :

212807117433. 1
212807117434.2
212807117435.3
212807117436. 4

Question Number : 25 Question Id : 21280729360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

What type of food service system involves preporation of food centrally at one place but is distributed
to several remote areas for final preparation and service ?

(1) Conventional food service system
(2) Assembly service system
(3) Commissary food service system

(4) Ready - prepared food service system

Options g collegedunias
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212807117437. 1
212807117438.2
212807117439. 3
212807117440. 4

Question Number : 25 Question Id : 21280729360 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

ot Ty | Yumed! H Ueh &1 €01 U2 WISH qAR {1 A ¢, eife sAf=m e i) dan (wiem) = fag
39 3 g & | faafia foren s €2

(1) OCORTd SISt Hal oTet

(2) HASe {1 YoIe!

(3) He-faun (wHifHERl) HIsH da yone!

(4) TIR 9IS HeE Tar gomet

Options :

212807117437. 1
212807117438.2
212807117439. 3
212807117440. 4

Question Number : 26 Question Id : 21280729361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II
(Type of Disability) (Characteristics)
(A) Autism (I)  Difficulties in reading, writing and arithmetic
(B) Cerebral Palsy (II)  Difficulties in locomotion due to damage to bones joints
and muscles
(C) Learning disabilities (IIT) Disability affecting communication, social interaction and
play behaviour
(D) Locomotor disability (IV) Difficulties of movement, posture, speech and hand

functions
Choose the correct answer from the options given below :
(1) (A)-(D), B)-1), (O)-11), (D)-(IV)
(2)  (A)HIV), (B)-(1), (C)-(D), (D)-(II)
3)  (A)-(0), (B)-(IV), (O-(II), (D)-(II)
(4)  (A)-(1D), (B)-(IV), (O-@), (D)-(11)

Options :

212807117441. 1
212807117442. 2
212807117443. 3

212807117444. 4 .
collegedunias
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Question Number : 26 Question Id : 21280729361 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

et - 1 1 it - 11§ e s
el - 1 T - 11

(A) T () e foa el siwnfom o wfeTeal

(B) gHf&TsH vet = () =gl & Sire &R wiFafel & SmEm % SR Fe § Sieeal

(C) Sferm HegHal (II)  3TSTeRTaT dleraiel, | T 3R Gadaer &l guifad
RGN

(D) = TR Heedt sTuan (Iv) feem-gad #, o i Hgl, da=id 3R 319 | ¥ HH H
—

i fou T fasredi § 9 Wt ST = HifSu |

() (A)-00), B)-@), (O)-(11), (D)-(IV)

(2)  (A)-(IV), (B)-(ID), (C)-(), (D)-(I)
(3)  (A)-), (B)-(IV), (O)-(11), (D)-(II)
(4) (A, (B)-(IV), (O)-0), (D)-(I)
Options :

212807117441. 1
212807117442.2
212807117443. 3
212807117444. 4

Question Number : 27 Question Id : 21280729362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

In order of their implementation, arrange the specific methods and procedures of special education
in appropriate sequence :

(A) Undertaking regular evaluation of the Individualised Education Programme

(B) Development of an Individualised Education Programme

(C) Undertaking an assessment of the child’s level in different areas of development and learning
(D) Facilitation of access and use of support services all through

Choose the correct answer from the options given below :

(1) (D), (A), (B) and (C)

(2 (©) (B), (A) and (D)
(3) (O, (D), (B) and (A)
(4)  (A), (©), (B) and (D)

Options :
212807117445. 1
212807117446.2

212807117447. 3 .
212807117448, 4 collegedunias
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Question Number : 27 Question Id : 21280729362 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

FrEaIE & e H, fam fen # fafre faftrll o uftkemsii 1 sfaa v § orafiem #1
(A) AfeaTa Toen wriskd &1 fafid Heaisd s

(B) =aferrrd foveq swrefshm =1 faenm

(C) eferm oiR fasrma & fafvm &5 H a1 % T 1 STk el

(D) TmdT Hasi de Ted ST 3TN &t gfaen

== fqu U fashedi # 9 W&t ST 1 T HiflC |

(1) (D), (A), (B) 3R (Q)

(2) (), (B), (A) 3R (D)
(3) (C), (D), (B) 3R (A)
4) (A), (O, (B) ¥R (D)
Options :

212807117445. 1
212807117446. 2
212807117447. 3
212807117448. 4

Question Number : 28 Question Id : 21280729363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In which year was the National Policy for Older Persons adopted by government of India ?
(1) 1996

(2) 1997

(3) 1998

(4) 1999
Options :

212807117449. 1
212807117450. 2
212807117451. 3
212807117452. 4

Question Number : 28 Question Id : 21280729363 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

.
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A R 511 J Al o foa i Hifd fore o 1o 718 ot ?

(1) 199
(2) 1997
(3) 1998
(4) 1999
Options :

212807117449. 1
212807117450. 2
212807117451. 3
212807117452. 4

Question Number : 29 Question Id : 21280729364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who among the following is mainly responsible for designing window displays, arranging store
merchandise, creating props and accents as well as styling mannequins ?

(1) Fashion designer

(2) Set designer

(3) Visual merchandise designer
(4) Interior designer

Options :

212807117453. 1
212807117454. 2
212807117455.3
212807117456. 4

Question Number : 29 Question Id : 21280729364 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frafafad # 9 & 921 ®9 9 faes! ye fesq, ©R) rh=rs & sHae, i fFwiu siv 38 ggaa
SR AT el i REe JeH H o forg Iwer 872

(1) A fesER

(2) 92 fesiE™

(3) Tassra weders fesE™

(4) @I (3IER) fese

Options :

212807117453. 1
212807117454.2
212807117455. 3
212807117456. 4

Question Number : 30 Question Id : 21280729365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1 .
collegedunias
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Question Key Details :

Key Value
Comprehension MCQ

Which of the following is NOT a major method of washing in washing machines ?
(1) Tumbling
(2) Bottom - drain
(3) Agitation
(4) Pulsation
Options :
212807117457 1
212807117458. 2

212807117459. 3
212807117460. 4

Question Number : 30 Question Id : 21280729365 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

frefafaa # & wF @ arfvin 7ei= § g =t yga fafy 54 272
(1) Se-9eie HE (ZafedT)

(2) E-SEE (IEH - $9)

(3) e/ foereT (Tfiew)

(4) wEfed HE (TEIRA)

Options :

212807117457. 1
212807117458.2
212807117459. 3
212807117460. 4

Question Number : 31 Question Id : 21280729366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following is NOT a merit of the straight knife used for cutting the fabric ?
(1) Most readily available

(2) Best choice to cut knitted or stretch fabrics

(3) Can cut through multiple layers with precision

(4) Cheapest of the mechanised cutting apparatus

Options :

212807117461. 1
212807117462.2
212807117463. 3
212807117464. 4

Question Number : 31 Question Id : 21280729366 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : - COI IegEd un ia.E
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Key

Value

Comprehension

MCQ

fr=fafad # & #F W w9e FEA % fau 3w fee S ae S =1 &1 0 T8 © 2
(1) ol AHE T Iqa=y

(2) F g A fg=ra ot U 1 HeA w1 9 fowe

(3) ARSGAT % WY HE Al HT Teh Y FE Ghdl

(4) FHiFd HerE IR F HaH T ey

Options :

212807117461. 1
212807117462.2
212807117463. 3
212807117464. 4

Question Number : 32 Question Id : 21280729367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which out of the following are the duties of a front office manager in a hotel ?
(A) Reserves, registers and assigns rooms

(B) Schedules shifts and duties of the staff

(C) Welcomes guests on arrival

(D) Checks the arrivals of the day

(E) Shifts baggage of guests within and out of the room
Choose the correct answer from the options given below :

(1) (B) and (D) only

(2) (A) and (B) only
(3) (B) and (C) only
(4) (D) and (E) only

Options :

212807117465. 1
212807117466. 2
212807117467. 3
212807117468. 4

Question Number : 32 Question Id : 21280729367 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunias

India’s largest Student Review Platform



frfafad 4 9 &4 9 tF gled d U@ FAad Jo-4s & Fdcd &7
(A) HHT AT FT, WS FE &R Afafed
(B) m¥ TIfvh &R wd=nfEl 1 gt § seana &l
(C)  SIRTHA 9 ATl =1 ST e
(
(

D) fed & sHa &l S 4

E) aifaferi & | o el % et 37K ST o S
i fedr T ot A @ W@ v A

(1) 9 (B) ¥R (D)

(2) e (A) ¥R (B)
(3) @ad (B) IR (O)
(4) %€ (D) 3R (E)

Options :

212807117465. 1
212807117466. 2
212807117467. 3
212807117468. 4

—

Question Number : 33 Question Id : 21280729368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following standardisation marks are NOT used for ensuring quality in fabrics ?
(A) ISI

(B) Hall mark

(C) Wool mark

(D) AGMARK

(E) Silk mark

Choose the correct answer from the options given below :
(1) (A), (B) and (D) only

(2) (A), (B) and (C) onl

(3) (B), (C) and (D) orﬂy

(4) (C), (D) and (E) only

Options :

212807117469. 1

212807117470. 2

212807117471. 3

212807117472. 4

Question Number : 33 Question Id : 21280729368 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value

Comprehension MCQ
coliegedaunias
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Fag # e gifEd & & fau frefafes § § fFm amee foe o 3ear =& e st e ?
(A) &I TH.3E. (ISI

(B) &I HIh
(C) 9 ATk
(D) WA
(E) T @reh

T e 1 fasredl # 9 W S @ 999 Fifsu)

(1) e (A), (B) 3 (D)
(2) I (A), (B) ¥R (C)
(3) e (B), (C) ¥R (D)
(4) = (O), (D) 3R (E)
Options :

212807117469. 1
212807117470. 2
212807117471. 3
212807117472. 4

Question Number : 34 Question Id : 21280729369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the essential features of Development Communication.
y P

A) Tt is oriented to socio-economic development and happiness

P PP
B) It focusses on success stories of people who have adopted new technologies
peop P g

(C) Itaims at giving information and educating the community

(D) It is based on the audience characteristics and their environment

(E) It involves positive changes in the socio-economic and actual lives of the majority of people
on a permanent basis

Choose the correct answer from the options given below :
(1) (&) (O and (D) only
(2) (A), (B) and (E) nly

(
(3)  (B) (C) and (D) onl
(4)  (A) (D) and (E) OfﬂY

Options :

212807117473. 1
212807117474.2
212807117475. 3
212807117476. 4

Question Number : 34 Question Id : 21280729369 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

IKey Value




|C0mprehensi0n |MCQ

faskme H=R &t SAfard faeraisii i ug=r ity

(A) Ig G aTfefer faem iR woedl &1 3R 3394 2|

(B) I A ARl il YeheTdl i Ferfail W higd € foia € qeheier o1 e ¥
(C) THH Ie¥ TS I SHHRT o1 3R forfera s 71
(
(

o

D) 9% T¥ihi ! fasmaiedi siR 3k amarere | | g

F) o Tl w9 9 stfuskisr &l & qrarfses, snifefe iR arefaes sired ¥ gerrreas aftedy ffed &1
4 fau T el § @ W SR = Hif

(1) e (A), (C) R (D)

(2) e (A), (B) 3R (E)

(3) e (B), (C) iR (D)

(4) % (A), (D) ¥R (E)

Options :

212807117473. 1
212807117474.2
212807117475. 3
212807117476. 4

—

Question Number : 35 Question Id : 21280729370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the steps of Nutritional care process during illness in a proper sequence :
(A) Diagnosis of nutritional problems

(B) Planning and prioritising nutrition intervention(s)

(C) Evaluating nutritional care outcomes and making changes, if necessary

(D) Assessing nutritional status

Choose the correct answer from the options given below :

(1) (D), (A) (B), (O)

(2)  (A) (B), (O (D)
(3) (&) (O, D), (B)
(4) (D) (©), (B) (A)

Options :

212807117477. 1
212807117478. 2
212807117479. 3
212807117480. 4

Question Number : 35 Question Id : 21280729370 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
Key Value

Comprehension MCQ
gcollegedumas
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R & S U0 T S Wik o = R 3fad e H oafied o

(A) U9 Hefed guens # |

(B) T TEALY ohi AT SIAM1 SR Wrerfiehar 21|

(C) T Heeht S@Te o Ufondl o1 gediwd A1 3R AfE sTravTe @ 1 qiEd w |

(D) Oy skl fefa =1 streRe |

== g2 T fawedl 4 9 WE& &1 997 FifS|

(1) D) (&) (B) (©)

(2)  (A) (B), (©), (D)
(3)  (A) (©). (D), (B)
4) D) (©), (B), (A4)

Options :

212807117477. 1
212807117478. 2
212807117479. 3
212807117480. 4

Question Number : 36 Question Id : 21280729371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

The way in which fashion changes is usually described as a fashion cycle. Arrange the stages of

fashion cycle in correct order :
(A) Increase in popularity
(B) Introduction of a style
(C) Obsolescence

(D) Peak of popularity

(E) Decline in popularity

Choose the correct answer from the options given below :

(1) (B), (D), (A), (E), (O)
(B), (A), (D) )

3)  (B), (A) (D), (), (O)

(4) (B), (D), (A) )

Options :

212807117481. 1

212807117482.2

212807117483. 3
212807117484. 4

Question Number : 36 Question Id : 21280729371 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

.
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59 9@ 9 T  sedE 21d1 § SAMdR WS U e 9% & w9 § uftafud foren srar 2 heH = %

=07 <] HEl hY H Fafiyd i
(A) <Ry | gfg
(B) U el 1 4=

(C) &Tg=rem

(D) SArRgaar &1 fora

(E) wrehfuaal § fivree

= e T faeedl ° | O &1 =9 i)

(1) (B) (D), (A), (E), (O)
(2) (B) (A), (D), (©), (E)
(3) (B, (A) (D), E). (O
(4) (B), (D), (A), (©), (E)
Options :

212807117481. 1
212807117482.2
212807117483. 3
212807117484. 4

Question Number : 37 Question Id : 21280729372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the functions of management in correct sequence.

(A) Evaluation

(B) Organising

(C) Co-ordinating/Implementation
(D) Planning

(E) Controlling

Choose the correct answer from the options given below :

(1) (D), (©), (B), (E), (A)
(2) (D), (B), (E), (), (A)
(3) (D), (B), (C) (E), (A)
(4) (D) (A), (B), (©), (E)
Options :

212807117485. 1

212807117486. 2

212807117487. 3
212807117488. 4

Question Number : 37 Question Id : 21280729372 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (D) (©) (B) (E), (A)
(2) (D) (B), (E), ©), (A)
3) (D), (B), (C), (E), (A)
(4) (D), (A), (B), (O, (E)
Options :

212807117485. 1
212807117486. 2
212807117487. 3
212807117488. 4

Question Number : 38 Question Id : 21280729373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Match List - I with List - IL

Nutrients Deficiency disease
List - I List - I

(A) Iron (

(B) Vitamin A (I) Goitre

(C) Protein (

(D) Ilodine (IV) Kwashiorkor

Choose the correct answer from the options given below :

(1) (A)-0A), (B)}-(V), (O-), (D)-(I)

(2)  (A)-(TD), ( )() (O-(1V), (D)-(1T)
(3)  (A)-(1D), ) (©)-(IV), (D)-(ITI
(A

) )
(4)  (A)-IV), ()(HI)I(C)( D), (D)-(D
Options :
212807117489. 1
212807117490. 2
212807117491. 3
212807117492. 4

I)  Night Blindness

III) Anemia

Question Number : 38 Question Id : 21280729373 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

nia:
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(1) (A)-0), (B)-(IV), (O)-(), (D)-(
(2 (A)-(1D), (B)-(D), (O-IV), (D)-(IL
(3) (A)(I)()()(C)( V), (D)-(I
(4)  (A)-IV), (B)-(II), (O)-(IT), (D)-I
Options :

212807117489. 1
212807117490. 2
212807117491. 3
212807117492. 4

D)
)
)
)

Question Number : 39 Question Id : 21280729374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following are NOT examples of commercial catering ?

(A) Nursing homes
(B) Langar
(C©) Gymkhanas

(D) Speciality food services like ice cream parlours

(E) Mid day meals in schools

Choose the correct answer from the options given below :

1) (A) (D) and (E) only

(2)  (B), (C) and (D) only
(3) (B), (A) and (E) only
(4)  (B), (D) and (E) only
Options :

212807117493. 1
212807117494.2
212807117495. 3
212807117496. 4

Question Number : 39 Question Id : 21280729374 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(B) @MW

(C) e
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(1) e (A), (D) 4R (E)

(2) I (B), (C) IR (D)

(3) )

(4) a9 (B), (D) 3R (E

Options :

212807117493. 1
212807117494.2
212807117495. 3
212807117496. 4

Question Number : 40 Question Id : 21280729375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List - I with List - IL

Units of measurement Description

List - 1 List - II

(A) EPI (I)  Density of the fabric measured by the number of warp yarns in
one inch of woven fabric

(B) PPI (II) Density of the fabric measured by the number of weft yarns in
one inch of woven fabric

(©) GSM (IIT) Density of knitted fabric measured by the weight of the given
fabric

(D) Thread count (IV) Number of warp and weft yarns in a square inch of woven fabric

Choose the correct answer from the options given below :

(1) (A)-@), (B)-(ID), (O)-(D), (D)-(IV)

(2)  (A)-0D), B)-(0), (O-ID, (D)-(IV)
3)  (A)-(), (B)y-(II), (O)-1V), (D)-(IL)
(4)  (A)-(IID), (B)-(IV), (O-(I), (D)-(I)
Options :

212807117497. 1
212807117498. 2
212807117499. 3
212807117500. 4

gcollegedunias
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Question Number : 40 Question Id : 21280729375 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

et - 1 SR - I H e whifa

HTY Y FRISAT
Tl - 1
(A) 3.ULSE, (EPI) (1)

(B) HITLAE. (PPI) (ID)

(C) SIL.TH.TH. (GSM) (IIT)
(D) W HEA (IV)

feeror

gt - 11

91 U FUS & Ush 59 H dF < "N i &A1 9 FHIS o T Al
SAg |

I U TS & Uk 39 H o o HRN ki G § IS Sl T HUI
EIcES

fou 713 wUL F I ¥ FH U HYS I HAE HI9 S 2

o U HYS o Uk o 59 H dF 3R I F HF i He&Al |

= fed 7 fawedl § § WE 1 999 RS

(1) (A)-D), (B)-(II), (O-(ID), (D)-
(2)  (A)-(D), (B)-(T), (O)-(I1D), (D)-
(3)  (A)-1), (B)-(I), (O)-(V), (D)-
(4) (A, (B)-(IV), (O-(@), (D
Options :

212807117497. 1

212807117498.2

212807117499. 3

212807117500. 4

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

(IV)
(IV)
(IID)
)-(ID)

2
2128072130
No

null

Question Number : 41 Question Id : 21280729376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

.
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Read the following passage carefully and answer the question.

Proportion : Proportion concerns the relation of one part of an object to another. A good design
does not permit easy dissection. The elements are so skilfully blended that where one leaves off
and the other one begins is not really apparent. This relationship may be created in size, colour,
shape and texture. All these need to be pleasingly related to each other and to the whole. This is
generally based on the proportion of golden mean which is represented by ratios like 3:5:8 to
5:8:13 and so on. The smaller part 3 has the same relationship to the larger part 5 as the larger part
5 has to the whole 8. The garment is horizontally divided into 3:5, 5:8 or 8:13 section. These
sections appear at the waist line, yoke and hemline. A dress appears pleasing if the blouse, skirt
and total body represents the ratio of 3:5:8.

For example, in a skirt and blouse dress, the blouse represents 3, the skirt should represent
5, and combined effect represents 8; similarly, in a shirt-pant dress, the shirt should represent
5 and pant should represent 8 and combined effect created is 13.

Which principle of design indicates the relation of one part of an object to another ?
(1) Balance
(2) Proportion
(3) Rhythm
(4) Emphasis
Options :
212807117501. 1
212807117502. 2

212807117503. 3
212807117504. 4

Question Number : 41 Question Id : 21280729376 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Options :

212807117501. 1
212807117502. 2
212807117503. 3
212807117504. 4

Question Number : 42 Question Id : 21280729377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Read the following passage carefully and answer the question.

Proportion : Proportion concerns the relation of one part of an object to another. A good design
does not permit easy dissection. The elements are so skilfully blended that where one leaves off
and the other one begins is not really apparent. This relationship may be created in size, colour,
shape and texture. All these need to be pleasingly related to each other and to the whole. This is
generally based on the proportion of golden mean which is represented by ratios like 3:5:8 to
5:8:13 and so on. The smaller part 3 has the same relationship to the larger part 5 as the larger part
5 has to the whole 8. The garment is horizontally divided into 3:5, 5:8 or 8:13 section. These
sections appear at the waist line, yoke and hemline. A dress appears pleasing if the blouse, skirt
and total body represents the ratio of 3:5:8.

For example, in a skirt and blouse dress, the blouse represents 3, the skirt should represent
5, and combined effect represents 8; similarly, in a shirt-pant dress, the shirt should represent
5 and pant should represent 8 and combined effect created is 13.

Proportion of golden mean is represented by which of the following ratios ?

{1} 3:5:8
(2) 3:6:8
(3) 3:6:9
(4) 3:5:9
Options :

212807117505. 1
212807117506. 2
212807117507. 3
212807117508. 4

Question Number : 42 Question Id : 21280729377 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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(1) 3:5:8

(2) 3:6:8

(3 3:80:9

(4) 3:5:9

Options :

212807117505. 1
212807117506. 2
212807117507. 3
212807117508. 4

Question Number : 43 Question Id : 21280729378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Comprehension Compl

gcollegedunias

ng

-



Read the following passage carefully and answer the question.

Proportion : Proportion concerns the relation of one part of an object to another. A good design
does not permit easy dissection. The elements are so skilfully blended that where one leaves off
and the other one begins is not really apparent. This relationship may be created in size, colour,
shape and texture. All these need to be pleasingly related to each other and to the whole. This is
generally based on the proportion of golden mean which is represented by ratios like 3:5:8 to
5:8:13 and so on. The smaller part 3 has the same relationship to the larger part 5 as the larger part
5 has to the whole 8. The garment is horizontally divided into 3:5, 5:8 or 8:13 section. These
sections appear at the waist line, yoke and hemline. A dress appears pleasing if the blouse, skirt
and total body represents the ratio of 3:5:8.

For example, in a skirt and blouse dress, the blouse represents 3, the skirt should represent
5, and combined effect represents 8; similarly, in a shirt-pant dress, the shirt should represent
5 and pant should represent 8 and combined effect created is 13.

Which one of the following example represent the ratio of 3:5:8 ?
(1) Shirt-pant dress

(2) Knee length one piece dress
(3) Skirt-blouse dress
(4) Knee length kurta

Options :

212807117509. 1
212807117510.2
212807117511.3
212807117512. 4

Question Number : 43 Question Id : 21280729378 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl
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Options :

212807117509. 1
212807117510.2
212807117511.3
212807117512. 4

Question Number : 44 Question Id : 21280729379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Read the following passage carefully and answer the question.

Proportion : Proportion concerns the relation of one part of an object to another. A good design
does not permit easy dissection. The elements are so skilfully blended that where one leaves off
and the other one begins is not really apparent. This relationship may be created in size, colour,
shape and texture. All these need to be pleasingly related to each other and to the whole. This is
generally based on the proportion of golden mean which is represented by ratios like 3:5:8 to
5:8:13 and so on. The smaller part 3 has the same relationship to the larger part 5 as the larger part
5 has to the whole 8. The garment is horizontally divided into 3:5, 5:8 or 8:13 section. These
sections appear at the waist line, yoke and hemline. A dress appears pleasing if the blouse, skirt
and total body represents the ratio of 3:5:8.

For example, in a skirt and blouse dress, the blouse represents 3, the skirt should represent
5, and combined effect represents 8; similarly, in a shirt-pant dress, the shirt should represent
5 and pant should represent 8 and combined effect created is 13.

Proportion can NOT be created in which of the following ?

(1) Colour

(2) Texture

(3) Emphasis

(4) Size
Options :

212807117513. 1
212807117514. 2
212807117515. 3
212807117516. 4

Question Number : 44 Question Id : 21280729379 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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212807117513. 1
212807117514.2
212807117515.3
212807117516. 4
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Read the following passage carefully and answer the question.

Proportion : Proportion concerns the relation of one part of an object to another. A good design
does not permit easy dissection. The elements are so skilfully blended that where one leaves off
and the other one begins is not really apparent. This relationship may be created in size, colour,
shape and texture. All these need to be pleasingly related to each other and to the whole. This is
generally based on the proportion of golden mean which is represented by ratios like 3:5:8 to
5:8:13 and so on. The smaller part 3 has the same relationship to the larger part 5 as the larger part
5 has to the whole 8. The garment is horizontally divided into 3:5, 5:8 or 8:13 section. These
sections appear at the waist line, yoke and hemline. A dress appears pleasing if the blouse, skirt
and total body represents the ratio of 3:5:8.

For example, in a skirt and blouse dress, the blouse represents 3, the skirt should represent
5, and combined effect represents 8; similarly, in a shirt-pant dress, the shirt should represent
5 and pant should represent 8 and combined effect created is 13.

Which of the following does NOT relate to proportion in a dress ?
(1) Waist line

(2) Princess line

(3) Yoke line

(4) Hemline

Options :

2128071175171
212807117518.2
212807117519. 3
212807117520. 4

Question Number : 45 Question Id : 21280729380 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Comprehension Compl
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212807117518.2
212807117519. 3
212807117520. 4

Sub-Section Number : 3
Sub-Section Id : 2128072131
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 46 Question Id : 21280729381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Read the passage carefully and answer the following question.

Organizations consist of positions that have to be staffed. The organization chart shows the title of
each supervisor’s position and, by means of connecting lines, who is accountable to whom, who
has authority for each area, and who is expected to communicate with whom. Job analysis is the
procedure through which you determine the duties of the company’s positions and the
characteristics of the people to hire for them. Job analysis produces information for writing job
descriptions (a list of what the job entails) and job (or person) specifications (what kind of people
to hire for the job). Virtually every personnel-related action including interviewing applicants,
training and appraising employees requires knowing what the job entails and what human traits
one needs to do the job well.

Determining duties of the positions and characteristics of the people for hiring in an organization
is known as .
(1) Job description
(2) Job analysis
(3) Job specification
(4) Job rotation
Options :
212807117521. 1
212807117522. 2

212807117523. 3
212807117524. 4

Question Number : 46 Question Id : 21280729381 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2
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Read the passage carefully and answer the following question.

Organizations consist of positions that have to be staffed. The organization chart shows the title of
each supervisor’s position and, by means of connecting lines, who is accountable to whom, who
has authority for each area, and who is expected to communicate with whom. Job analysis is the
procedure through which you determine the duties of the company’s positions and the
characteristics of the people to hire for them. Job analysis produces information for writing job
descriptions (a list of what the job entails) and job (or person) specifications (what kind of people
to hire for the job). Virtually every personnel-related action including interviewing applicants,
training and appraising employees requires knowing what the job entails and what human traits

one needs to do the job well.

Which of the following should be carried out before writing job descriptions ?
(1) Conducting interviews

(2) Job appraisal

(3) Job analysis

(4) Fixing compensation
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Read the passage carefully and answer the following question.

Organizations consist of positions that have to be staffed. The organization chart shows the title of
each supervisor’s position and, by means of connecting lines, who is accountable to whom, who
has authority for each area, and who is expected to communicate with whom. Job analysis is the
procedure through which you determine the duties of the company’s positions and the
characteristics of the people to hire for them. Job analysis produces information for writing job
descriptions (a list of what the job entails) and job (or person) specifications (what kind of people
to hire for the job). Virtually every personnel-related action including interviewing applicants,

training and appraising employees requires knowing what the job entails and what human traits
one needs to do the job well.

The process of enlisting what the job entails is known as in human resource management.
(1) Job analysis
(2) Job description
(3) Job fixation
(4) Job specification
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Read the passage carefully and answer the following question.

Organizations consist of positions that have to be staffed. The organization chart shows the title of
each supervisor’s position and, by means of connecting lines, who is accountable to whom, who
has authority for each area, and who is expected to communicate with whom. Job analysis is the
procedure through which you determine the duties of the company’s positions and the
characteristics of the people to hire for them. Job analysis produces information for writing job
descriptions (a list of what the job entails) and job (or person) specifications (what kind of people
to hire for the job). Virtually every personnel-related action including interviewing applicants,

training and appraising employees requires knowing what the job entails and what human traits
one needs to do the job well.

Determining the kind of people to be hired for the job is known as
(1) Controlling
(2) Job description
(3) Appraisal
(4) Job specification
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Read the passage carefully and answer the following question.

Organizations consist of positions that have to be staffed. The organization chart shows the title of
each supervisor’s position and, by means of connecting lines, who is accountable to whom, who
has authority for each area, and who is expected to communicate with whom. Job analysis is the
procedure through which you determine the duties of the company’s positions and the
characteristics of the people to hire for them. Job analysis produces information for writing job
descriptions (a list of what the job entails) and job (or person) specifications (what kind of people
to hire for the job). Virtually every personnel-related action including interviewing applicants,
training and appraising employees requires knowing what the job entails and what human traits

one needs to do the job well.

Filling the employee positions in an organization is known as

(1) Supervising

(2) Staffing

(3) Leading

(4) Controlling
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